
1. Choose the right match among the following:
(1) 
(2) 
(3) 
(4) 

Madurai Gandhi 
Thatchina Gandhi 
Vidyalaya lyya 
·Father of Tamilnadu Library
Move1nent 

(A) (1) and (3) are correct
(C) (2) and (3) are correct
(E) Answer not known

(1) • • LD�_6lflr; a;rr.m�. 
(2) �L��rr a;rr,di�
( 3) 6lS) � ILHT 61) ll.J IT � lLJ U.,JIT 

( 4) �uSl W.llirr® J;gJTGDffi @wa;a;��6bT fb.[!i�fb

(A). (1) Lb (3) Lb a:rfl 
. . 

(C) • (2) Lb (3) Lb a:rfl
(E) 6l516lflL Q�rflw@SlGiJ�GD

N .M. Subburaman 
Raj�ji 
Kamaraj 

A. Rama·samy •

(B) (1) and (2) are correct
(D) . (3) and ( 4) are correct

N.M. ffiULj�fTLD60T
@r;rr�rr�
ffifTLDfJIT�
A. r;rr.we:rruSl •

(B) (1) Lb (2) Lb crrfl.

(D) (3) Lb ( 4) Lb e:rfl

2: • ·Rao Ba_hadur Sir A.T. Pannirselvam was·a --,----·leader, who 
previously served in the Governor Erskine's Executive council. 

· , 

(A) • Swarajya Party
(C): • Justice Party
(E) Answer-not known

(B) _ Congress Party
(D) Samajwadi Party

fJIT6i.J • ua;�rr crrr �-�- u6bTdrrQcFGiJruLb ----- �6lflGD6UfJrTffi @05,di�rrrr. @�fb® 
CY) 601 Lj qb � ,lli {r 6rff GTUa;l 60T] 6m' j5l ff GU IT ffiffi @)@�GU U 6mJ ll.J IT JD .o5) 6NIT ff. 

(A) ffilUfJJT�UJffi a;t..:...51

• (C) . ��$ a;t..:...51
_ (E) �@L Q�rflw6l51GiJ6lflGD

(B} a; rrrt.J°a;J r; Qt). a; t..:...51 
(D) 8'LDfT�6UIT� a;t..:...51
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3. _ Whi�li book guided the Poligar confederacy against British which had a

maxim 

"Pretend sub111ission and. Procrastinate surrender before the formidable 

ene111y"? 

(A) • Mahabharatam

(B) Ramayanam

(C) Panchatharitram

(D) Silappathikaram

_(E) _Answer.not known 

" (@J rol � LD w rrm � � _rf) u5l 6hr (!P60T � �u � .§j61516hr u rr e:rrffil ® Lb 8'1J6m � L.§jrol 6bl ����(@Ju L( 

Gr 6hr ,!!) U !J? Q lD rr � u5J mu � �-ffiJ c$) G 61) UJ ®a;@ Gr� 1J IT 6ITT U IT� ffiUJ a; 8:i IT 1J fT oo LL� lD LJ Lj ffi@)
·. 

_ (@_J � a; rr �� UJ J:9If ro

(A) lD8:i_fTUfTIJ.§jl.O .

. (B) @1JrrlDrTUJ6mL.b • 

(D) 61 mu u � a; rrrJL.b
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4; What are the things "Being with Kings, Discerning unspoken thoughts,

knowing the audience''; stated in these Chapters by Thiruvalluvar? 

(1) About Minister's behaviour
(2) Minister's advised to King
(3) • How a king should treat another King

( 4) Related Psychology Ideas

(A) 

(B) 

(C) 

(D) 

(E) 

(1) and (3) only 
- . 
(2) and (.4) only

(3) only

(1), (2Y and (4) only

Answer not known

'\.om 6m" 6ID IJ a= C:a: IT� Q �IT@@)� Q). @),IDl u u ,a5) � Q). � m GlJ lLI ,a5) � 6\)" qbffil lLI ��a; fTIJTfiJ a; ffi1 Q)

QJ <orr (_§ GlJ IT 2-� IT �@GlJ 6lIT lLI IT m GlJ ? 

( 1) · � 6ID ill 8'8' rr) 6b,- ff> L� 6r0 � U ,!I) ,a5) lLI �

( 2) �mill a=a: IT ill 6bl" 6lIT ®J ffi@) qb G ru rr e:6r0 6lIT GlJ � rfu ® GlJ �

(3) U)��@T tSlJD U)@T6lITITfficimIT® jL�� Qa;ITGTTGTT C:Gl.lOOl!j-lLI QP6r0JD u,d),ID11Ll@

(4) • �m@Sl11J6\) ffi@��a;a;GiT .!£1m����

'(A) (�) ill,(D.Q)JLD (3) illLG)LD 

(B) (2) LD.(DWJLD ( 4) illL@Lb

.(C) (3) illL@Lb .

(D) (1), (2) .lpWWJLD_ ( 4) illL@Lb

(E) 61S1GIDL Q�rr1.tLI@Sl6UmGU
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5. To who1n wealth co111pared to the full .water of city tank?

(A) 1Vlan of em.inont know ledge

(B) Evil friends

(C) Ga1nbling •

(D) B·1seness

(E) Answer not known

(A� G LJ [J,oS) al fHiTT 6bT 

(B) �-J!il...Lj

(C). @5§1 

(D) 8;UJallT

(E) 6l51�L Q�rr1w6lS1GUGmGD _.

6. Who is the ·auth�r of the Novel "Kaagetha Sangiligal"? •·

(A) Sujatha Rangarajan

(B) Vaali

(C)' Jayagandan 

- .(D) . Pudumaipithan

(E) Answer not known

. . 
. 

• 

"a;rrffil�e: a=rfiJffi!G15le;m" toTGbTJD LJ�60'T��GbT qb5lrrl�rr wrrrr? 

(A) $� rr�rr IJ"ffilffilJrr�GbT

(B) . a1 rr615l 

(C) Q�wa;rrJii�6irr

(D) Lj � Gm LO LJL.51 ,ffiµi 6bT

(E) @S)·�L Q�rr1w@SlruGmru
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I·. 

7. Which work rc�fers to the war at 'l{azhumalarn'?

(A) l(urunthogaj

( C) Na trinai

(E) Answer not known

(AJ @).Q)l ,di;;)� rT � a; 

(C). ps ,[D ,a51 � Gm

(E) @S1�L Q�fT1UJ@S1Gb�ru

8. Malaiyulae pirapinum malaiku

avaitham en seiyum

(B) Agananooru

(D) Paripadal

(B) �a;psrrw.rrw

(D) urr1urrLGb

: - In which book does these lines occur? 

(A) �lirunthogai

. (B) .. Agananooru 

(C). • Kalithogai 

• (D) Natririai

(E) • . Answer not· known

• , ' "ll) 6G1 ru lLJ (g 6TT L5).[l L.J L5) ®J LD LO 6G16U ffi@)
I 

• • •
• �· GG1 QJ � rr t.b 6f 6bT Q ,HLI ILJ t.b"

- 6f�,ID UfTLQ.l Q.Jrfla;Gil' @Llb Qu,d),ID @TQ.l <oT@J?

(AJ ' @) WJ ,lli Q � rr 6G1 a;

_(B) � ffi .ffi IT@Jf g)J

.(C) ' ffi rol � Q � rt 6G) ffi'

(D) .m ,(.0 ,a5) GG1 00-

(E) �GG)L Q�rflW�Q)GG16U
7, 

�
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9. Match the following Titles of the Kings:

(a) Pandiyar l. Aaclhavan

" (b) Ch�rar 2. Thithiyan

(c) Chola 3. Chezhiyan

(d) Aai 4. Sembian

(a) . (b) (c) (cl)

(A) 3 4 2 .1

(B) 3 1 4 2 

(C) __ 3 -2 1 4 

(D) 4 3 1 2 

(E) Answer not known

_ 
• LO 6ITT 6ITT IT 8:i GTT16br U �Lffil 8:i 6ID GIT Li Q U ff®�@ 8:i :

(a) u ff� !!j-UJ IT l. qb�Gl.l6N

(b) (gcflJIT 2. ��l1J6N

(c) (ga= ff-� IT 3. Ga=w)UJm

, (d) . qj;,li.J 4. Q a= Lb L.91 UJ m

(a)· (b) (c). (cl) 

(A) 3 ·4 2 1 

(B) 3 1 4 . -2

(C) .3 2 1 4 

(D) 4 3 1 2 

•. (E) Gl51 GID L Q � rfl UJ 6lS) GU 6ID Gl)
,•1 . 

' 
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10. Tamil Nadu Gover • , ninent s 'Pudhumai Penn' Scheme ensures(A) Women Participation in Polit1cs(B). Hig_her Education for Women
(C) Increased w E 

• . . • omen mployment Opportunities
(D) Marriage Assista�ce Scheme
(E) Answer not known

�u5lwc9, �1Jsl6ITT' '�@0ilLO Guoo' fb1LLLD 6T0ilfIJ �!J)Jfb1u@��£1,[!)�?
(A) 
(B) 

� IJ §) LU 60] 6U Q U oo c9,m) 6ITT' u ffi.l @5
Qu�c9,�a,@5 �wrr 8,Q)GE) 

(C) Guooc9,�8,8,[T6l)T G6l..lm6l)6l.JfTWLJ6nU_ �fb1e;uu(E)��,§56U
(D) �@jl..OG<ITT �!z>GEl fb1L...LLb
(E) • 05lmL Q�rflw05lrum6U

11. Compared to the year 2017 - 2018 Tamil Nadu in terms of health index
falls on the category of------· in the 3rd round of 2018 - 2019 . 

• . (A)
(B)
(C)
(D)

.. (E) 

Improved rank 
Retained rank 

· Deteriorated rank
Negative incremental performance
Answer not known

• 2017 - 2018 q:!,60M@L@T �u...sl{b\Lb Gurr� 2018 - 2019-.@6U &6tTJDrr6lJ� a:r,[b,rr516l.l
8rc9, rr � fTIJ a; @5,IDl uS L.lq-05T c:!91 Lq-LI um L u5l Q) {Ii uSl wJD rr(E) . ...sl rfl m 6lJ if GcHf Jbflifli rT $)JD� .

(A, GLDLbu@�!z>LIULL !z>IJ6Urflma=
(B) . fii8>$ 6(i) 6lJ �!l> fii fJ6lJ rfl 6(i) a=
( C) . 6 rr® 6Zff JD ru I a:rfl � !l> IJ6l.l rfl 0ila:
(D) ��c9,rfla,@5Lb 6T�ITLD6IDJD_ Qa=w6U�JJ)6h"r
(E) 0516IDL G!z>rrlLU0516U0il6U
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12. The prime duty of the Central Health Education Bureau 1956 .was in

(A) Free Ilenlth Care Service and activities

(B) 1-IeaH.h educatio�1 in pri1nary level
(C) Health for all
(D) Coordinate and pron1ote health education through various

divisions 
(E) Answer not know�

. 1956-Q) LD��w ffiffilT�ITIJffi a;ru@Sl umflwa;��6tir '@�6bra>LDffi a;La>LD. 

(A) @6Drue= ffiffilT�ITIJ Ga=a>ru • LDJD!J)llll Qe=wruu1T{b)ffiGTT

(B) qblJLDU .[Bla>6D - ffiffilT�ITIJ a;G\)@Sl

(C) �a>6ITTGU(!5ffi@)LD qbGIJITffiffilwLb

(D) uQ)Gruw L5lrfl�a;m16br eyJ6DLb a;a;1T�1T1Jffi a;ru@Sl�w �@ffi.lffila>��@
. GLDL.bu@���-ru

(E) . GiSla>L Q�rflw6Glrua>6D

13. ·What is the recent addition to the existing family of .AYUSH system?
(A) Reflexology
(B) Sowa Rigpa

- • (C) Naturopathy
(D) Accupuncture .
(E) • Answer not known

. A YUSH �a>L.Dut516br ®@Lbu��ru e=tBu��ru Ge=r'ra;a;uuL...L (!:Pa>.[D WIT�? 

(A) rfl l.J Q 61) ffi Qt) GTl) IT 61) � 

.• 

(B) 

. (C➔-
• (D).

(E)

Ga=rrru • rfla;u1T •. 

@tLJfba>Bi w·@�iiruw . 
�B>@)LIU(§�r'r 

• 6l5la>L Q�rflw�Gt>�ru
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14. Dr. D.hari11an1bal A111111njyur Ninai.vu Assj A tunco was given to whichcategory of wo111en'? 
(A) Poor W 01nen Man:iage Ii inanci al Assistance
(B) Nutrition Pood for Wo1nen
(C) Widow Re1narriage Financial Assistance Scheme
(D) l\llarriage Assistance for Orphan girls
(E) Answer not known

-• • • • • 
rfl "' �@S)_ <or ft.,q; 61..J � a; LJ Q U 6li'o"r a; u;;n;g ® L ffffiLff. �ff l.DfTLDUrr<orr �LD�LDUJrrr'r /.!J'�6lITQ.j �r' r'r' -.;::.:.;,I 6l..l�ffi.la;uuLL@? '. 

(A) 
(B) 

(C) 

(D). 

(E) 

_ GJ6ID�LJ Glu�a;Gtr �®LD6m :12...�@S)� Q�rr@"la; 
Q U � a; �$8, fT6lIT lli!ILL8'8'�@ @j@"l .[I) l�JfTL@"l L �a;a; 

Gl5) � 6ID 6l..l LD JJ)J w 6m Lb :12...,s5@Sl � Q .§i fT@"l a; 

qh�IJ"6l..l.[D,[D Glu�a;Gtr �®LD�� Q,s5rr@"la; 

Gl516ID L Q ,§> rrJ UJ @S1 Gl.l@"l Q) 

--�--- percentage of economic gr�wth increas
:
ed at 15. _ Post Covid-19 

constant price in TN. 

_ (A) 11% 
(BJ 8% 
(C)- 6% 
(D) 5% -

, (E) ·_. Answer not known 

(A) 11%
(B) 8%

(C) - 6%
(D) '5%
(E) Gl51�L Q!E rtlUJ@S1GU�Q) .
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lG. 

• 

-

'ra1nilnadu .is to e 
• systc1n 111 llslit.

The goal of the .Public Distributwn

------ to all citizens. 

(A) 

(B) 

(C) 

(D) 

(E) 

(A) 

(:S, 

(C) 

(D) 

(E) 

Food security 

Equal distribution 

Social security 

• Economic security

Answer not known 

• @-60"01'<@..j UfTt})J$fTULJ

8'l.D 66J,ffil�1Urre;tb 

8'('.Y)B; UfTt})JB;fTUL.J 

' 
. 

Gurr@6TTIT,§:irTIJ urrt})J.e;rruL_J 

66J GrJ L Q ,§:i rfl 1U lol.<'j) 6lJ 6lrJ Q)
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17. 1\ i.Intch l.he following reformist with their life period :
(n) Raj n H.::uu lVIohan 11oy 1. 1858-1962 
(b) Jotiba Phule 2. 1842-1901

(c) M.G. Ranade 3. 1828-1890

(d) D. I(. I(arve 4. 1772-1833

(a) (b) (c) (d).

(A) 1 2 3 4 

(B) 1 2· 4 3 

(C) 4 ·3 2 1 

(D) 1 3 2 4 

(E). Answer not known

(a) IJ rr� rr IJ rr w Gm rr a; 6m" fJ rni.J 1. 1-858-1962

(b) G�rr,urr !:::!,GGU 2. 1842-1901.

(c) . ,GfLD.�- IJGITTGL 3 1828-1890

(d) . tq-. Ga;. a; rrrrGQJ ( 4 1772-1833

(a) (b) (�) (d) 

(A7 ·1 2. 3 ·4

(B) l • 2' 4 3

(C) 4 3 2 1

(D) 1 3 2. 4

(E) 61S) 6ID L Q � rrltu 61S) GU� GU

B 13 CCSElP/202-! 
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r 18. . 1 . , 1• n a fa ,nily in which there are b,, 
P Q n .. rz1 I l"f . . \ SlX llH'Jll JUI s C. • • • •vo 

, ,_n,S,. :1nc,,,u.e ., .'-� ,:·-ricdtoadoctorwho.·1smother 111a1Twd couplos . .l n teachct 18 mar d d of. . • . . .. • 1 .,. v p has one son an one gran 80 R ·111d U Q the hvvver 1s rna111ec 1.,0 .r • . . l 11.
< • t ·- ' ·' • ·r There 1s a so one stud Of th-' two married ladies one 1s a housewi 8• 

. • r. ll . . e11t• • f· ·1 Who among the 10 owing 1s th and one male engineer 111 the a1n1 Y· . e
housewife?
(A) p
(C) S -(E) Answer not known

(B) Q 
(P} T.

P, Q, R, S, T l.O.[D!J)JLD u q!,$lGwrrt'r 9® @j{BLDU,§j�6ITT 6 2-.Q)JUiSlmt'ra;m. �6Urra,61T)Q)
@1;�@ �(!5-l.06WTLOIT6nl -�LbU�UJt'r �GTT61T6nlfr. T Gf6ITTUGlJIT �® qb�rflUJt'r LD.[Dg)JLD �GUl'r
R LD.[bgulb U-�. �rrwrr1;rr6nl LD®��6l.J6lf)IJ LD6WTJb� Qa,rr6lio-r(E)mITTrrrt. Q GT6blu6Urr �®
a:�L �6UWJ.IBIT, GLOW-Jlb. �GlJIT p m LD6WTµ>� Gla;�6lfuT@mGTTrrlT.- P GT6bluGU®tt® 9®· L.Da;GhrLD.[D�LD _ �® Gurr� �GTTGTT6n"TIT'. @®, . �Q5LD6m"LDrr6nT Gu6ma;�GU 9(56Urr @Ltq.6\)@q,u.u�rr w.[bgulb �JI>� @)@Lbu��6b 9® q!,6lITT Gurr,nS)UJ·rrmrr LD.£0.Q)Jt..b �® LDfT�GU!'r� 61T 61T 6nT rr. GT 6nfl 6b g � s;a; 6lfuT L GU ,r a; GTfl 6b w rr rr 6)) L Lq-GU @®a; ® t.b Q u 6m ?
(A) p .
(C) S ·
(E) • GlS)�_L Q�rflw61S16b6lfJ6D

(B) Q 
(D)· T

- • 19. If A=.?°=I,_B=Y.=2, C=X=3, .. _. .. etc.
• Which· one "is· wrong?
(A) M =N 
(C) A+B+C=·X+Y+Z
(E) ·Answer not.known·
.. 

(B) M + N = L + 0 +A+ Z _. 
(D� • E,G ,-J are prime nu1nbers·

¼ = z =_I, B = y = 2, C = x·= 3, .. .-.. etc.
GT 6'aTJ GU GT@ �QJ JD IT 6ITT" � ?

__ (A) M=N
(C) A+B+C=X +Y +Z
(E) @Sl�L Q�rflUJGlS'IGU6lf)6l)

-(B) M+N _ L + O + A + Z 
(D) E,G ,J <oT6m-U�GU ua:;rr <oT6ma;GiT
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20. The area of • �--I .enc e increased b .. 1 c1n. Find the area 1· 
. y. G6 sq.c1n. I1: its radius is increas d b 

2 
(A) • -xl03

7 

2 -xII3
7 

o new cn·cle. 
'. e Y 

(B) 2 ,,-x 9''

(D) 2 x123

7 
(C) 

(E) Answer not kn�wn

(C) 2 3 .-xll 
7. 

QJLL��6irr UIJ"U� 66 8'@1; Ga=.LD. 

(D) 2 x123

. 7 
(E) @S160)L QirflLLJ@S16i)60")�

21. .The population of ·a town is in.creasing ·at the rate of 6% per annum. J
.was 238765 in the year 2018. Find the ·population of the year 2020. 

, 
. 

(A) 286726

(C) , i12500

(E) - . Answer not known

(B) 268276

-(D) 286722 •

. �® fB85rJ��Q) wa;a;GTT G.§5rr�a; �6lfur©a;® 6% . �fE1a;rl1a;.i1w�- 2018 qbLD qb< 

LDBlcSGlT Q,§)rr�a.; 238765 �a; @®J.B.§5�- 2020�Lp �Gm"tq.6bT LD8ffiffi Q�fT�ffi�

• cSff6m"cS ...

(A) 

(C) 

(E) 

286726 

__ ·212500 

15 

(B) 268276

.(D) 286722 
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22. 

23. 

120� Which of ·the following 
The LCM of three different numbers is
cannot be theii- HCF? 
(A) 8
(C) 24

(E) Answer not known

(A) 8
(C). 24 

( E) . 6l1l 6a) L Q � nl llJ Gl1l Q.l 6a) Q) 

If a= 22 X 33

b � 32 X 53

(B) 12
(D� 35

(B) 12
(D) 35

•• C = 52 X 23 then find the value of 
HCF(a2

, b3 ) + HCF(b2 ,c3 ) + HCF(c2
, a3 )

·(A) 36 +2 6 +56

(C) . 2 3 +36 +59

(E) • Answer not known·

a=;= 2 2 X 33

b = 32 x53

C = 52 
X 23

(B) 39 + 29 + 59 

(D) 53 + 36 + 29

GTdl6ti w.Qurr.6l.J. (a2 , b3 ) +LD.Qurr.6l.J (b2 , c3 ) � LD.Qurr.6LJ . (c2 ,a3 ) �
c9,[T6ffi c9, 

(A) 

(C) 

(E) 

36 +26 +56

2 3 +36 +59

. @516!0L Q�n1wGlS'lruQ'lru 

(B) 39 + 29 + 59

(D) 53 + 36 + 29

U)t1h:.iLJ. 

• CCSElP/2024 16 
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f3 

24. 'l�l . 1e C!:lt1sut·1, • C. ' '0 O1·g·n ll I u111 1-· Wl .• 0 • 0 10op1ng '<JUJ!h

(A) 

(C) Streptococcal 1Jneu111onia

(E) i\nswer not known

(]�) I j 1htherin nnt.itoxin

(D) Sahnoncll.a paratyphi

(A) 

(C) (D). c9'fTQ)GL.DrrQmQ)Q)fT UfTIJfT�L� 

. . . 
25. The major practice involved in Rote learning is learning by

(B) Concepts.(A} I,n-depth subject· 

· (C) Repet°ition - (D) Higher order thinking

(E) - • Answer not .known

Q L! rr @> GiT �GllNIJ"rTLD GU s; ,ID.[) Gt5l GU (!:PB>.i'hu ,(6� L(Y) � ,(!) lLl rr ffi . .@® u u@

qb@.)ill.
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2G, tvlnntuux test i8 UH •d l'ul' id •uLiJ'y ----- Disense.

(A) 1-lal:nia

( ) ancm· 

(13) Tuberculosis

(D) Diphtheria

E) Answer not known

LO IT Giffl_ IT 8i 0\.) G8' IT� 6b) 6ITT" ---- G J!i IT 6b) lU ffi 00 ® L5l Lq-ffiffi �!ti '51.j £1 JD@ •

(A) LDGGUrtlLUrr

(C) Ll.cbWJGJ!iITLLl

( E) 6lS1 6b) L Q � n1 lU 6lS1 Q) 6b) G\) 

(B) ffilT8'GJ!iITLLl

(D) t.q..LljrrllLIIT •

27. Eutrophication leads to the death of fish due to

(A) Increasing 62 content

(B) · Increasing CO2 content

• (CJ Decreasing Algae content

(D) Decreasing 02 content

(E) Answer not known

�t.:..G1;rrL.SlGffi�ml6llTrr6b wml� .@JDLl�ffi@:> .ffirr�GmLDITffi .@(!,LIU@ 

(A) �e;Gr\)j &66irr � GIT '51.j �� ffi rrl LI U@

(B) �rrr'ru6irr6b1L �ffi6l0tf® �GTTQ.j ��ffirrluu@

( C) u rr §1 ffi GIT 6r oo 6ml a; 6lO ffi @5 6lO JD Gl.J@

(D) qbffiGr61�6lrr �m'51.J @56lOJDGl.l@

( E) 6lSl 6lf) L Q � rr1 w 6151 ru 6b) ru

CCSElP/2024. • 18

,, /JI 

Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il



Add
a2

47
 Tam

il




